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Instructions:  
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!"&$% 

'()*+,-./0(0*12+3(4(-/(56(73+(/8(,9/3-(70,:+3(-;<+=( 

((((> 4 ? 56 @ABCD@E 

((((> 4 ? 56 FABCDFE 

'((G7H9(I*+,-./0(H733.+,(46(173J,=( 

((((K@L 46 ME 

((((KFN 46 ME 

………………………………………………………………………………………………………… 
1)  

An apple is cut into 5 equal parts. Each equal parts of the apple is _____ 

OPQRSTU(V(WXERSYKWXBZZZZZ 

[P\]STU(V(WXE]SYKWXBZZZZZ 

………………………………………………………………………………………………………………………………… 

2) 

 

 There are 27 books. Each book has 25 pages. How many pages are there with 4 books? 

^ 5_ `aEK`a^(5V(bE(c `a^dbe 

^ 5_ `fEK`f^(5V(gE(c `f^hige 
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……………………………………………………………………………………………………………………………. 

3) 

 Harry went to the zoo. He entered the zoo at 10:45 am and exited from the zoo at 1:32 pm. How much time 
did he spend in the zoo?  

jklmnopEqrs 46 t cV Muvnopwxs 4t y5 Mz{nopEq|nop

}mh~e 

jklm�o�Eqrs 46 � cV M�v�o�wxs 4� y5 M���o�Eq|�o�

�}mh���e 

………………………………………………………………………………………………………………………………… 

4)  
 
A shopkeeper sells 8 pieces of nylon clothes, each length of 2 m 85 cm. The total length of clothes is 
____(answer in mm). 
 
P����� ������wK���� 5� �V �ME��Y���BZZZZ�D����

���E 

P����� ������wK���  5� �V ¡�E��Y¢��BZZZZ�D�£� 

���E 

………………………………………………………………………………………………………………………………… 

5)  

Steffi had 1.05 kg of cherries. After she gave some to Nicole, she still has 380 gm left. How heavy were the 
cherries that Steffi gave to Nicole?  

¤¥¦^(4=6V(�§¨©Eª«¬(­®(P¯°±w«²³x(y�6(´E¤¥¦µ¬­®Y¨

©^h¶e 
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¤¥¦^(4=6V(�§·©E¸«¹­®(P¯°ºw«»³x(y�6(´E¤¥¦µ¹­®Y·©

^h¶e 

………………………………………………………………………………………………………………………………… 

6)  

Emma has 8 slices of cake. She gives 3 slices to her friend and ate 2 slices. What fraction of the cake does 
she have left? 

¼½^(�(¾¿ÀE«¬m«ÁÂ(y(¾w«ÃÄÅm(5(¾E«²³x¿ÀYdM°de 

¼Æ^(�(¾¿ÀE«¹m«ÁÂ(y(¾w«ÃÄÅm(5(¾E«»³x¿ÀYÇM°Çe 

………………………………………………………………………………………………………………………………… 

 

7)  

Convert 5 litres into millilitres. 

O(V(�ÈÉÊU�ÈE 

[(V(ÈËÊU�ÈE 

………………………………………………………………………………………………………………………… 

8)  

1369 Χ 8369 – 1369 Χ 6369 – 1369 Χ 2000 =? 

……………………………………………………………………………………………………………………….. 

9)  

The largest two digit whose tens place is even and unit place is odd is _____ 

Ì��ÍÎÏQ��ÐÎYÑÒÓ�ÎBZZZZZ 

Ì� ÍÔÏ\� ÐÔYÑÒÕ�ÔBZZZZZ 

……………………………………………………………………………………………………………………….      
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10)  

 

In a reading competition, Mathew reads 727 pages, David reads 452 pages more than Mathew and Steve 
reads 812 pages less than David. How many pages did the three of them read in total? 

 

|PÖ×ØÙÚÛwÜÝØm(_5_(bwÒÞÙÜÝhØm(cV5(bwßàáÙÒÞiØm(

�45(bEâãPäØmhibe 

|PÖåæÙçÛwèÝæm(_5_(gwÒéÙèÝhæm(cV5(gwßàáÙÒéiæm(

�45(gEâãPäæmhige 

…………………………………………………………………………………………………………………… 

11) 

What is the expanded form of the given number 13,876. 

¬êÎë(4yì�_í(Yî{ïðBñòe 

(¹êÔë(4yì�_í(Yî�ïðBñóe 

…………………………………………………………………………………………………………………… 

12)  

There are 115 birds on a branch of a tree. One-fifth of birds flew away. How many birds are left on the branch? 

Pôõör^ 44V ÷øEùM°PYøúûmEõör²³xhi÷øe 

Pôüör^ 44V ýþEùM°PYþÿûmEüör»³xhiýþe 

………………………………………………………………………………………………………………………………… 
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13)  

Roxanna divided 6120 by 51 instead of dividing by 15. By how much was her answer less than the correct 
answer?  

!/"7007(O(í456(#$(V4w%&B#$(4VE«YD�Ù'(D�)hie 

!/"7007([(í456(#$(V4w%&B#$(4VE«YD�Ù'*D�)hie 

 

  

   
  

 

 

……………………………………………………………………………………………………………………………… 

 

15)  

 

A bicycle wheel has a diameter of 60 cm. What is the radius of the wheel?    

Ã4556Y78�(í6(�ME69Y:8Bhie 

Ã4;;<Y7= (í6(¡�E<9Y:=Bhie 

………………………………………………………………………………………………………………………………… 

 

 

 

 

 

………………………………………………………………………………………………………………………………… 

14)

Joyce had 5 dozen apples. He gave his sister one-third and half to his brother of total apples. How many 
apples are left with him?

喬伊斯有五打蘋果。他把蘋果總數的三分之⼀給了妹妹，及把⼀半給了弟弟。他還剩下多少蘋果？

乔伊斯有五打苹果。他把苹果总数的三分之⼀给了妹妹，及把⼀半给了弟弟。他还剩下多少苹果？
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16) 

Sara has 3.5 liters of juice. She pours some juice to two glasses with 1.2 liters left. How much juice is in each 
of the glasses? 

>?^(y=V(�ÈS@E«AÓQB9CDmP¯S@w³x(4=5(�ÈEKQB9C^hiS

@e 

E?^(y=V(ÈS@E«AÕ\B9�DmP¯S@w»³(4=5(ÈEK\B9�^hiS@e 

………………………………………………………………………………………………………………………………… 

17)  

 Robert went to the market and bought the items given below. What was the mass of the chicken (in grams)? 

FG¥lHIJmxK¬YoLEMNYLOBhi�´�e 

PG¥lHQRmxK¹�YoLESNYTUBhi�´�e 

 

 

 

………………………………………………………………………………………………………………………………… 

18) 

 

 What is the perimeter of a rectangle whose length is 12 m and breadth is 55 cm in cm ? 

��(45(1ÏV�(VV(H1(Y�WïYX�Bhi�Me 

� (45(1ÏY (VV(H1(Y�WïYX�Bhi¡�e 

………………………………………………………………………………………………………………………………… 
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19)  

A cow eats 2 !
"
	kg of grass in the morning and 5 "

#
 kg of grass in the evening in one day. How much grass will a 

cow eat in a week? 

PZ[P\]rÅ^(2 !
"
	�§w_rÅ^5 "

#
�§EPZ[P`aÅhi^e 

Pb[P\]rÅ^2 !
"
	�§w_rÅ^5 "

#
�§EPb[PXaÅhi^e 

………………………………………………………………………………………………………………………………… 

20)  

 

Divide the reciprocal of  $
!%

  by the reciprocal of !
"
. 

O(( $
!%
(YDÎ#$(!

"
(YDÎE 

[(( $
!%
(YDÔ#$(!

"
(YDÔE 

………………………………………………………………………………………………………………………………… 

                                                                          END OF PAPER 


